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One mark will be awarded fdr CVery correet apswer. There are no negative marks.
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.#Enswerst to the qu;miimns must be entered only on OMR Answer Sheet by completely shadi:;g the appropriate
circle with Ball Point Pen (Biye o Black) only.
dvo Tmr Swy wdroncs TS Ld0ub BIwdEOD Fem S3% SymD) 25950 aorwi
arbodsBaa,
The OMR f}nswer Sheet Wil be invalidated if the circle is shaded using Pencil or if more than one circle is
shaded against each question even with a small dot.
Ldowd 2w S0 D SyFod® 95} Do DT do pYSH Fd> Sarergolarl S0ABodnis,
The OMR Answer Sheet will not be vatued if the candidate
VALY LIS BT HIF0D 4 aksS e 5D 508 dhds aorwd@o Sravgeino Scbadh.
(a) Writes the Hall Ticket Number on ,,n}f"].,ﬂlt of the OMR. Answer Sheet except in the space provided
for the purpose,
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. Cnce the candidate enters the Examination Hall, he/she shall not be permitted to leave the Hall till the end
of the examination.
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. Ensure that the Invigilator puts his/her signature in the space provided on Question Paper Booklet and the
OMR Answer Shzet. Candidate should sign in the space provided on the OMR Answer Sheet.
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the space provided in the Nominal Rolls.
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. Retumn the original OMR Answer Sheet to the invigilator before leaving the Examination Hall. Failure to
return the OMR Answer Sheet is liable for criminal action and the result will be kept withheld. The carbon
copy of OMR Answer Sheet and the Question Paper Booklet shall be taken away by the candidate and
should be preserved till the declaration of results.
48 Sren oD HehL HYSHH Ve LIous arwsend) HoIEHNE wosBEhstm. Labes
zazodigo BodHobds Pl £85 JSdgen 508 S3do 2H&ied Hodin 2488 Soaed
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Time : 3 Hours Marks : 100

Instructions :

)

(i)

-Each question carries one mark.

8 BH% a8 Sroy, Sem.

Choose the corréct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

8BS add ©8 BH% K0S TES' HBTE BIrTEINE IZNFD T “rdod
©08 1, 2,3 8¢ 4 3m wi)d OMR 35008 Sgsns” @6 Songh dbbm Ko
Jowodd DL wr/ers o8 Fowod Tk SBBFN0D VoSS

1 2
A company of 7300 soidiers is formed ot 4 battalians so that — of'the first, 3 of the second,

-3

4
i of the third and 3 of the fourth are all composed of the same number. The difference in

the number of soldiers between the battalians with maximum and minimum number is

088 BirdHohas® —; Soé). Bodd TAS* % Jody, Sordd oaes” % 2 doéd Sobain
Tenisd oS % S S0, ©d) SSrSdopgs” GoBbenr 7300 A% Ko Fesld
awamgm 2. Eowlm Srdrodoari. @5’)3{50 ﬁﬂé 8550 §§.’!Té E&oq:-s e Eb‘&ﬁ)é
Sy Rdse ﬁumgé"a o

(1) 700 (2) 800 (3) 900 (4) 1000

A bag consists of one rupee, 50 paise and 5 paise coins in the ratio 3:5:7. If their total vaiue
sum to Rs. 23-40, then the number of 50 paise coins in that bag is

08 HoDS* 0¥ grdrow, S0 Dl SoBcn 5 Pdw F@ee 3:5:7 IS’ SIow. ©
THo 3ngo Dend Eruen 23-40 wond, & 5005 50 Do FHe Domg
(1) 10 (2) 14 (3) 16 4 20
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1320 books of same variety are divided among 7 men, 11 women and 5 boys such that each
woman gets 3 times as many as a boy and a man as many as a woman and a boy together.
Then one Woman’s share of books is

28 &8, 28 wrend 0B 3 iy &S SHbbprdd, 28 HEOWIE, w8 & Hdaky 28
zrenné 0D ;f)ifg T38 HdrSomrdo @03&3&:3 2.8 3806 1320 JPsreds Tokh Jhipen,
11 5008 Qoo 00 5 Dyos dgomd. oy o8 & T Jve Sopg

(1) 80 2) 75 3) 60 4) 55

-
A

If a sum of Rs. 1,540 is divided among A, B, C =0 that A shall receive 5 of what B and

. : 3 ‘
C receive together and B receives 1 of what A and C receive together, then C’s share

(inRs.) 1s

_ 2
B 005w C ot £01 5% Iwgod® 5 S0 A8 SFhowg, Ao C o 80d 53)

-~

Angos® T Sod B8 Sy Gmes 1,540 2 A, B, C o 65 dueh, Cans,
T (Ernest)

(1) 930 (2) 820 (3) 740 (4) 580

A person covered one-third of his journey at 25 kmvhr, one-fourth of his joumney at
30 km/hr and the rest at 50 km/hr. His average speed for the entire journey (in kmvhr) is

1 i

28 558 85 Podrmod” T Sod ) Hobkd 25 8.20 SEYS, T:.L 5 S0 e Aodso
3

30 8.3 TOYS, wASS ) Hobgs 50 8.0 TN I Bards. Indof PArerds,

©4Ed Ho70d Jdo (B.o/dobsd)

L
d
(S | | —_—

1 1 2
(1) 285 () 31 @ 323 @)

4-C
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Theaverage age of A, Band C is 84 years. If D joins them, then the averageé age of that group
is 80 years. If another man E; who is 3 years older than D replaces A, then the average age
of B, C, D, E becomes 79 years. Then the age of A (in years) is

A, B, C o 30756 505:9) 84 doddoren. D 5783 887, © 33057cHdn 3070 Sahid)
80 doSdyreo. D o8 3 SosEsswe DTG E, a05'd Ad ader &% o
S3noraiod® @68 B, C, D, E © 30700 Sahdy) 79 dodddhnen. edvd A G,
:J:Dde\}J__J (Honoess®)

(y 17 2) 76 @}) 75 4) 74

The average of the first 15 multiples of 5 is
5 @BnE), InE8E 15 mdwro ST
Ly 5 (2) 25 (3) 375 (4) 40

The average weight of students in four classes A, B, C, D 1s 60 kg. The average weight of
students of the respective classes A, B, C and D are 45 kg, 50 kg, 72 kg and 80 kg. If the
average weight of the students of class A and I3 together is 48 kg and that of class B and C
together is 60 kg, the ratio of the number of students in class A and class D is

Jrenis d8kden A, B, C, Dad™® AErgie HoH0 wdd 60 8.1 2ADAN & SdHEen
A, B, C %8050 D 06* dTgiie 30750 Sohdoes 363 45, 50,72, 80 . 8648 A
558050 B & 5308, Dghae 9000 2t 48 8. 50050 S668 B 508050 C & @0
Dergye ST 08D 60 S.¢v. ©ond, ASdain D $6idhes®d dorghe NS

(L} 23 (2) 4:3 (3) 3:2 (4) 3:5

The production in a factory got decreased by 25% due to reduction of work force. To
restore the original production, the working hours should besincreased by a percent

ﬁﬁ‘gf’i}ﬂ ﬁomgéa ghohd Ses ¥ &ggaﬁ‘m ﬁé&@ 23 =do éﬁ;f)ﬁ, Jode &I
&S)B YSOGooTFTIE DowHebd Sdfobe Tdo

1
(1) 25% @ 333%
2
(3) 673% @) 75%
5.C
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- Anil sells his goods 25% cheaper than Sunil and 25% dearer than Akil. Then Akil’s goods

are cheaper than Sunil’s by the percentage
WAO &D E.’J"n)_..gﬁu (PE%0)S%0 DS o8 25% TEMS), wdS Kol 25% _‘;}"ﬁ%} 085
©i0ad. B IS AW, SHHen (dbhsien) o8 vhS SHeo, TE TS

(1) 25 (2) 30
n qal
3 333 4) 40
1°7 [3 8
l=— {].f (6 3:’\3—2)+[7§TE—J[?+EJ -I—
= 5 =2 3 o 2
0 % T @ 7 LT

The number of zeros occurring at the end of the product 12x18x5x40x25%{6%55%105 is
12x18x15%40x25%16x55% 105 vgdn &uE, D56S° 53) (S55385080g) He Sopg
(1) -5 (2) 6 (3) 8 (4 10

Ll | —

-1
The value of [1—{1—{1—_1:3}"} } whenx=0.1.1is

s -1Ts
x.=[}.1 @050y l:l—{l_—{l—x"} } ] G0, Dend

(13 1 (2) 0.1 (3) 0.01 (4) 0.001

"Thé sum of all odd nurabers from 20 to 102 is
20 So0D) 102 565 Ko o) B Jopge Ingsn

(1) 1576 (2) 1676
(3) 2501 (4) 2601

6-C
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When a certain number is divided by 223, the remainder obtained is 79. When that number
is divided by 179, the quotient is 315 and remainder is R. Then R =

w8 DA Hopgdd 223 T prhodSDPE S 3ho 79, & JSowgd 1793 arhoDSSydd
erfPosn 315 Sockn 303w R odyd R=
(1) 106 (2) 109 (3) 113 (4) 118

How many numbers between 100 and 300 are divisible by 137
100 8 300§ Scasg 13 8 erhioded Somgen D7
(L 16 (2} 15 (3) 14 (4) 13

If the sum of live consecutive even numbers is 130, taen the L.C.M of the largest and the
smallest of those numbers 1s

=6 85 B0%omge Sxdss 150 zoud, o 5O HED HBasn 593 Sopge S
(1) 240 (2) 280 { } 330 (4) 66[':-

[f the difference between the simple interest and the compound interest for 2 years at 5%
per annum on a certain sum is equal to Rs. 50 then that sum of money (in Rs.) is

Sod oy HoSHTAE 3% THYS 2 Joddrok wdy SESES oo ahSds
Soggio Do drren 30 soxd, & RSy (Erneres®)
(1) 16.400 (2) ~17.800 (3} 18,600 (4) 20,000

The compound interest on a certain sum of money at 3% per annum for 2 years is Rs. 246.
The simple interest on the same sun for 3 years at 6% per annum (in Rs.), is

Fod dnp G048 3% SESS T39S 2 JoddyEinesd vdy 5§ drien 246,
@d Fdoyn Boddods 6% S9yS 3 JoddhdSnek wadog a:*d::':-é (Srnees®)
(1), 364 2) 384 (3) 416 (4) 436

[fasum of Rs. 3.903 is shared between A and B so that A’s share at the end of 7 years is
equal to B’s share at the end of 9 years at 4% compound interest per annund, then B’s share
(in Rs.) is

BoSHTIE 4% SESG TIYS T Bodgore DIES A Gng) T, 9 Sodoe DIEI
B @), airs Sdrso sdlogbénm Eries 3,903 S ASoboin B e Sodg 5008, sdyd
B s, aér (Brneres®)

(1) 2,188 (2) 2,028 (3) 1,976 (4) 1,875

7-C
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If a sum of money amounts toRs. 2,240 4t 4% per annum simple interest in 3 years, the
simple interest on the same sum for 6 months at 32% per annum (in Rs.) is

Fod S0P D03HTNE 4% rdSG TS 3 SodHHros' edy Tndo Eren 2,240
wond, od FSon J05HTIE %% THE 6 JIveH ody wrd $§ (Eries)
(1) 80 - (2) 65 (3) 45 (4) 35

If an amount of money grows upto Rs. 4,840 in 2 years and upto Rs. 5,324 in 3 years on

compound interest, then the rate percent per annum is
Fod &5y WES5AD 2 SosdUsnes® e 4,840 56 S8cn 3 BoSgssnes®
Ernen 5,324 588 HKE0B, Hoddoid 583k vdo

1) 10% 2) 9% 3) % (4). 5%

Two equal sums were lent out at 7% and 5% simple interest respectively. It the interest
eamed on the two loans add upto Rs. 960 for 4 years, then total sum lent out (in Rs.) is

Dok JBrSHS FAoyess Scdnm 7% bk 5% bﬂﬁjﬁ%ﬂ 28¢808. 4 Sodd)oed
& Do wiyeD Hdﬁ.ﬁg .‘5% 2o Srren 960 evosdE, ;’.‘r@% 2 Jndo dwy (Bneres®)
(1) 2,000 (2) 2,500 (3) 3,600 ~ (4) 4,000

The ratio between the number of first and second class passengers travelling between two
railway stations is 1:50. The ratio of first and second class farés between the same stations
is 3:1. If Rs. 13,250 were collected on a day from the passengers between these stations,
then the amount collected from second class passenzers (in Rs.) is

Sod BBCRASL My Poirme T I0SE HBa0 Todd SCH8 Bodrdie Hd
D8 1:50. 03 Rahe DGy IGE HOEN TodS 8518 Trlo Sy IS 311 oF
O'ard & Vo RS0 oy Bosredoe Hod S3r83 ooy drwen 13,250 BowS,

Bodd S84 PairdHeo Dol SIS Aoy (Ernees?)
(1) 12,500 (2) 11,800 (3) 11,500 (4) 10,600

The savings of A and B are in the ratio 4:5. They bought a gift for their friend sharing the
cost in the ratio 3:4. [f A spent two-third of his savings for this gift and B is icft with
‘Rs..145 after this purchase, then the value of that gift (in Rs.) is

A 58050 B eo wor 38 e 8 45 o7 E5 H)irdods, 3:14 R8s’ $8%
DowF ot &8 DIVHE] Fah. & o8 FHIyd A €5 e 30 rSaes*
2/3 Sod ) nENRRD, IV §F Shard B 5 doen 145 20003, & 235058
Jend (Erned*t)

(1) 105 (2) 140 (3) 160 (4) 175

8-C
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B takes three times as long as A and C together and C takes twice as long as A and B together
to do a certain job. The three men working together can complete that work in 8 days. Then
A alone can finish that work in

1 1 2 3
(1) 205 days (2) 195 days 3) 133 days (4) ISE days

&€ 5D Y DoSErs ABoakn Ceoo 8% SES 53003t Surditen Béotrd,
A 58050 B oo 500 80EI 5500508 3o dooho C uFoird. Sndr 50
HTH & 52 8§ Fwes® o FRH. Anfd © HIJ o IaHadd 5H Do

Teren

L | e

1 1 2
() 205 Gwes  (2) 195 Gwen  (3) 183 Fwen ((4) 18

A group of men can complete a work in 60 days. If 3 more men join that group, that work
could be finished 15 days earlier. The number of men originally in that group is

FodHod Hhe ddomroHo af HAY 60 Sereos® Jro dohied. H6° 8 Jued
DO & Sduoraird) EORIIYE, © 4D 15 Ceren S000dm 3 ©HSod. ©J3d
& JJwTreDod” Fwd &8 HDY Domg

(1) 20 (2) 22 (3) 24 (4) 25

Working separately Aand B can fimish a work in 8 and 12 days respectively. If Astarts the

work and they work on alternate days, one on cach day, then the work will be completed by
themin

1 I
(1) SZ days (2) 95 days

1
(3) 10 days (4) lDE days

DADAM HABHr A 005 B e 8 520 Schdm 8 Hoakn 12 Fares® i dabifo.
A e 520 e D, Fk LEh FTOYS 6 G DED G HITR, © I FH FY
Fahde stedw

1
(1) 8;;' Garen (2) 97 Seren

1
(3) 10 Sawen 4) 10 Swen
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A can do a work in 8 days and B can doit6 days. They have undertaken to do that work
together for Rs. 1,800. But if they complete that work in 3 days by taking the help of C,
then C’s share of amount (inRs.) is

Aeag 520 8 Swres® Bobiod. B od 300 6 Swred® Sabiod. o785 §8% & 5D
Srien 1,800 o8 BeHards adyFand. C oy, 35'chos” o760 & HAD 3 Swreod’
e 8%, etysn C ot sy ((rios?)

(1) 325 @) 275 (3) 250 @) 225

2 men and 1 woman can complete a work in 14 days, while 4 women and 2 men can do the
same work in 8 days. If a man gets Rs. 240 per day, the wage (in Rs.) per day of a woman is

2G YHwen S0005» 28 § 28 HID 14 Frods’ o Sobie. 83 3D 4Hh oo
28050 ag YEwen 8 Fares® TP, PO &'wEd Grivs 240 FodEod, 1S
b 3Ty ddo (Eriws)

(1) 148 (2) 160 3) 172 (4) 180

A, B and C get Rs. 7,200 for doing a work in 24 days. Aand C get Rs. 1,380 for doing the
same work in 10 days while B and C get Rs. 3,600 for doing that'work in 24 days. Then the
ratio of the amounts that A, B, C receive perday is

o€ 303 24 Fweod® Doband A, B S08c8n C e Ermien 7,200 odsrd. @ 5
A 500050 Cen 10 Sfered® Sohads domen 1,880 2088, B ocin Cen 24 Fred’
Fz A8 drnen 3,600 drocherdn. Hf)jd: A, B, C e o8 &aad ﬁ?’:ﬁl}éﬂ aﬁﬁ
(1) 75:56:19 (2) 65:56:29 (3) 75:36:39 (4) 65:46:39

Two trains with different speed and having lengths 120 mts and 96 mts respectively run on
parallel lines of rails. If they run in the same direction, the faster train passes the slower
one in 18 seconds. Ifthey are running in opposite directions with the same speed as earlier,
they pass each other in 12 seconds. Then the speed of the faster train (in knv/hr) is

120 h:‘t.:ﬁpﬂ S0bcso 96 ﬁhbdg G Ko Bods Ben woden 3?3553 Adned’ HIrostom
a:i.‘-_l Siped HEADHTION. B o8 B¥S' Halrldyod, Jkom Fdd wod ISsm
Ieyiirs) D 18 BESS* crenob. ©I @b 568 IKosD BDKVPOT S5853 BIS"
Bosrdiged LETITES 12 BEdS® crinaon. wiys S 3Kod Hosrddyd)
Bevwod SKo (8:D/Kokso)-

(1) 50 () 54 (3) 60 4) 64

10-C
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A person travels 120 km by steamer, 450 km by rail and 60 km by taxi in a journey. The

1
speed of the train is thrice that of the taxi and IE times that of the steamer. If the time
taken for his entire journey is 18 hours, then the speed of the train (in kmv/hr) is
28 $g8 83 Hokrwoss® 120 8.5 <rod) dod, 450 8.8 Bewwod Hoi, 60 8.5 erkyhss

: 1
Jeydd. Bewwod Jdo, erd) IrdE 3 Biy H0aH orod Irrds 15 Oy, @83 3ndo

©oSrenl8 18 Hoben 388, Bewwod Ko (8.20/K0éa%d)
(1) 60 2) 50 G) 45 @) \42

The distance between two cities Aand B is 510 km. A train T} leaves A towards B at 2:45 pm
with a speed of 50 km/hr. It meets the train T, which leaves B at 1:35 pm and moving ata
speed of 60 km/hr towards A. The distance (in km) travelled by T by the time it met T, is
A %0050 B o3 3otk e Sy dorgo S108.20. 28 Bevwod T Kobsss S0 8.3
Bro&® A Kod 2:45 pm & 20He030 B 395 30808, & Deowod, Hob 60 8.
=08’ Biood 1:35 pm 8 woHendd ASH% 503) 58 208 T;d Eeodiod. T 0%
55005008 T BSrB300S Srd0 (8.5 06 '

(1) 133 (2) 192 (3) 200 (4) 210

A boy walking ata speed of 5 km/hr from home, reaches his school 20 minutes late. Next
day he increases his speed by 1 kmv/hr and he is iate by S minutes. Then the distance between
his home and school (in km) is

28 QPTE fodd 5 8.2 Jrhos’ 208 %08 w88 SEVFYIyE 20 dSndZnes 0EE
vodgom Ided. v OIS wdd &5 3mA) KoL af §S5HLH HodS,
5 DSsddnen sodgom Sierd. ¥4I 20ds, 288 Hgihs) Erdo [8.20.08%)

I

(1) 8 @ 75
_ L

@) 7 ) 63
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36. The hour hand and the minute hand in a clock are at right angleés for the first time after
3 O'clock at ; :
o Pex
(1) 3hrs 24ﬁm1n (2) 3hrs ZGHm_m
- 6 . g .
(3) 3hrs 251'1—1mm (4) 3hrs SZHmm

3

2,8 HAUrGoS® Hcbe Nnen ol DdndSne e 3 doten 88 $Hod

S8 wonboos’ ol duoho

2 . ®
(1) 3doe 24ﬁ§3.m (2) 3fobw Zﬁqw.m
i
ﬁ L] - ¥ 8
(3) 3Hobe Egﬁc&-w (4) 3dobo 32-1—1-:‘?}.m

The time between 3 (' clock and 4 O' clock, when the minute hand is 4 minute spaces ahead
of'the hour hand, 15

7
(1) 22 min. past3 (2) 21 T min. past 3
8 . . 3
(3) 20 g, i past 3 (4) 20 I min. past 3

AdnRdne S, fobe Swey Eob 4 Jindwodlhnes SNOMH TE G HITE,
féuirdos” 3 fovek, 4 Kobeod S@y dBoio

FRr
(1) 3 dotoey o8 22 dnen (2) 3 Aotoen &3 21 T Qe
8 2
(3) 3 Sobsens od3 20 ﬁ nexd (4) 3 Kotsen 88 20 T Qnew

www.sakshieducation.com
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38. If the two hands of a clock coincide (are together) for every 64 minutes, then the time
gained by itin a day is '

. . 8 .
(1) 35min. (2) 34ﬁm1n. (3) 32ﬁrmn- (4) 3111{“1;]1,

28 HB0SrE0S D Do SneQHen, B8 64 ISNASVOR JoPSSn Bothed (28 s’
208583 §§J\'5§}, 2% &'e® @ HAosrdo whsomr ol Bwo

| . ‘
(1) 35 dnen () 34%:3@ (3) 327w (@) 31—:—1,;;“@

39. The day of the week on 10™ June 2002 was

(1) Monday (2) Tuesday
(3) Saturday (4) Sunday

10 25 200207t 6osS*D G'a

(1) FHoassn (2) Ssolgardsmn
(3) #da0S50 (4) edIdHw

30. The lastday of any century can be

(1) Tuesday (2) Thursday
(3) Monday (4) Saturday

DB fergo @B, IS0 G IR

(1) . Soofdadsn (2) Kodassn
(3). FSoaeE s (4) #d6S3%0

41, 1f 5% March 1999 was Friday, then on 27" March 2000, the day of the week fell on

(1) Tuesday (2) Saturday

(3) Sunday (4) Monday

1999 38y 55 86 HETGo wond, 2000 58y 275 BHS ardos® 5Ty &'
(1) Soondarssn (2) #DT65%

(3) wdT oS (4) Soardsn

www.sakshﬁ_decation.com
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In one kg mixture of sand and cement, 20% is.cement. The amount of sand that should be

. 1
addea 10 the mixture so that the proportion of cement becomes SE% 18

(1) 1.2kg (2) 1.25kg
(3) l4kg (4) l.64kg
2§ BSYTEN aE S00cIn B0 MF0S* 20% B0t &HB. dIoks So& o

| .
eio 35% SIEAE Do’ Euddonsd 2t Hbhdr=mo

(1) 128 (2) 1.25584

(3) 148 (4) 1.64 &y

The population of a town was reduced by 12% in the year 2008. If it was increased by
15% in 2009, the effect of increase/decrease percent on the population at the beginning of
the vear 2010 is

(1) increascby 3% (2) decrease by 3%
(3) increaseby 1.5% (4) decreaseby 1.2%

2008 £o3e)850eS® 28 Dm0 2w 12% 4388, 2009 &° » a2y 15% WOAE,
2010 SoSddo rdoziods” o BT D :‘ﬁ@é;ﬁadﬁ:g Dhbe | $Mhde FEo Pardo

(1) 3% &8 (2) 3% $Kde

(3) L3%Bdihde (4) 1.2% side

A person spends 75% of his monthly income. If his income increases by 20% and his
expenditure also increases by 8%, the percentage increase in his savings is

28 558 55 srabost T5% iy B, 98D emraho 20% DA, B8 B Sra
8% 2BAS, wdis Tn SHHS DS TEo

(1) 52 (2) 56
(3) 60 4) 64

14-C
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. 1 1
A person sells his table at 12 E% profit and his chair at 8 3 % loss and gains Rs. 25 on the
1 1
whole. But if he sells the table at 85% loss and the chair at 125% profit, then he neither

gains nor loses. Then the cost price of the table (in Rs.) is

LY

1 1
o8 598 85 Bendd IEE% a8, S0\ 35% JerE vy, Ingo Q& 25 Boeuen
1 1
v Ford:, vod, vk Badd 8;% S8 508050 K8)D 125 % a8 ©0dnE,

©EJE ergorra, dRomd QB . ©IYH & B B §8 (Erid’)
(1) 360 {2) 340 (3) 320 (4) 300

The market price of a shirt is Rs. 480. If the shop keeper allows a 10% discount, then he
gains §%. If no discount is allowed, then his gain percent is

2 TE), BE), HESS 6 Srnen 480. Svmerdd @D 10% 43,08 oy, vsd
8% ergfo oo, G0 AW RIETE, w&d ogfTdo
(1) 18 (2) 20 (3) 22 (4) 24

Amala purchased goods worth Rs. 450). She sold one-third of them at a loss of 10%. To gain
20% on the whole transaction, she should sell the remainder at a gain percent of

1
v Srien 450 DB N FHd. FEST 3 S0 s 10% S8 0dse.

Ao $55°6205 20% orFo odEs, DHADS SJod v vlnlods oy T80
(1) 30% (2) 35% (3) 40% (4) 45%

A trader sells a transistor at 15% above its cost price. Had he bought it at 5% more than
what he naid for it and sold it for Rs. 6 more, he would have gained 10%. The cost price of
that transistor (in Rs.)1s

28 B8 2 ErQPOR, B 6 15% Jd,5% wlmerth. wsk o8 BYoDS
o0 §0B 5% Q89,55 A F'R, 6 dren IS5 IO 93, 248 10% ergio Sy
038, ¥ YR §F) Jo (Eriwd’)

(1) 1,200 (2) 1,000 (3) 900 (4) 800

www.sakstlri%'&cation.com
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A trader allows a discount of 10% on a calculator. In order to gain 20% on selling it at this
discount, the percentage of increase on its cost price that has to be marked, is

28 5B o€ SOSEBLED 10% 8 otk ©KHBE. & B0 TV @liuydr
20% ereind FoSTIE, F $5 0B essor BESoBIODS &8 EnY, TEo

1
(1) 10% 2 30% @) 333% 4) 34%

Aand B can do a piece of work in 12 days, Band Ccandoitin 10 days, C and A in 15 days.
The tims taken in davs for Aalone to complete thar work 15

ASboin RBef 523 12 Fwrod i, Bioddin Ca dan 10 e, CSodois A
HAD 15 Fewrods’H obied. Acf)d e 32 Jrh Johadl 58 sodn (Frod’)
(1) 40 (2) 36 (3) 34 (4) 28

In questions 51 to 53, in each question, four entries have been given, out of which three are alike
in same manner and the fourth one 1s different. Choose that different entry as your answer.

51 &0d 53 56% o PRéHLG, B8 PHSH Forh voron aNwdTTon. FBST Sl
a0Te) LE S0t uE @d}*ﬁﬂgﬁi L0/ & 0io0, Jrenl wodo Dﬁ].‘ﬁﬂlﬂr‘!“ “odinod. @ﬂ;oﬂ

DD woTd) 2 HAFCrSOT JobE Deod

51.

53,

(1) Deer (2) Zebra
(3) Hyena (4) C(uraffe
(1) &6 (2) 2
(3) o (4) 2o
(L) 15 (2) 23
() 37 @) 71
(1) Dolphin (2) Zebra
(3) Lioness (4) Crocodile
(1) =&y (2) 2per
(3) ©c3B (4) 585
16-C
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In question 54 to 55, you are given a set of four figures (1), (2), (3), (4) out of which all except
one are alike in same manner. You have to select the dissimilar figure in the given set and choose
jts number as your correct answer in the options (1) to (4) given

54 $0D 55 565 Ko @Hes" K e dLdwed (1), (2), (3), (4) asgpbaron. 8
2 E8 DSS NADZD ©d) &' 2.8 DForr a8 JErrgd) FOH Gotron. EE SWES' Yo
) HErD) JobE BEFW, of)sen (1) So0d (4) &° o PopgdH HBGS Birrdom Jobs
S5050a.

55.

56.

Q P & =

\ S '\\/
(1) (2) (3) (4)

(D (2) (4)

A and B entered into partnership investing Rs. 16,000 and Rs. 12,000 respectively. After
3 months A withdrew Rs. 5,000 while B added Rs. 5,000 to his capitai. After 3 more

months C joined them with a capital of Rs. 21,000. At the end of the year if they gained
Rs. 26,400, then B's share of profit exceeds A's share by

(1) Rs.2,400 (2) Rs.22,800
(3}, “Rs. 3,200 (4) Rs. 3,400
A 08050 B oo 3%8m drmey 16,000 356c50 drien 12,000 Binnds® o8 &b

o) FScDo=d. 3 oo HHad Souen 5,000 ol A 3585 S0FB, B 435
Dixads oo 5,000 59D, 56 3 oo Sthard Grien 21,000 bepwds® Cros’
EONT . DoSFTroSINS T8 Srnen 26,400 ergo 5, A Fér erdfo 508 B air
orEo BHEgE

(1) &ruen 2,400 (2) &rnes 2,800

- (3) Somiexy 3,200° (4) &ouew 3,400

www.sakshig¢@ditation.com



57.

58.

59:

69. _

WWW.S j cation.com

1AR-5 Booklet Code C

Aand B invested Rs. 30,000 and Rs. 40,000 respectively in abusiness. A receives Rs. 100 per
mﬂnﬂlm.ltﬂmProﬁtwwmdsmmgmehmmmdthemsmfﬂmpmﬁtmdmdadmpmpomm
to their investments. If in a year time A receives a total of Rs. 3,900, then B receives Rs.

A 508050 B 28 argirdoss® Sdodm S 30,000 508030 & 40,000 éped 2ETEH.
Frgro°R) DEGUroDSoEIEY 5SS ergfoss® A 8 Job dru 100 SHS 1), DADS o)
56 Dénwdeo INES* Sowoanh. wf Sodddosrwos” A § Bngo & 3.900 59,

B 8§ 503 &S & o8

(1) 3,600 (2) 3,800 (3) 4,000 (4) 4,400

A, B and C entered into a partnership in a business. A got % of the profit, wlileRand C

distributed the remaining profit equally. If C got Rs. 4,000 less than A, then their total
profit (in Rs.) was

. 2
A, B 50050 C en 2.8 agddos® gridgdnenm 305, orgfoss® T Sodo A 0d3,

DADS ey B H08c80 C e ddrdSormr dohFad. A g08 C § &>. 4,000 59,5 5,
vdyd 570 Andgo ergio (Brneses®)

(1) 34,000 (2) 36,000 (3) 38,000 (4) 40,000

A, B and C became partners in a business with respective investments in the ratio 5:7:6.
Next year they increased their investments by 26%, 20% and 15% respectively. if their
profit at the end of second year is Rs. 21,600, the difference between the highest and
lowest share of profit (in Rs.) is

A, B 508050 C e $853m 5:7:6 2860 Digadhod® o8 argdrdod® eridngSunsdirgth.

&5 55008 JoSd)do T8 nEPutIed T SWdm 26%, 20% Sobasn 15% odard.

Bods Hod&go SE 78 erdo dr. 21,600 wond, @65&5 Sobcsn wdgey orgre
FTire D06 2o (Brneest)

(1) 2,100 (2) 2,250 (3) 2,360 (4) 2,440

Thiree sides of a cuboid are 18, 37.5 and 40 cm. If there is a cube whose volume 15 the same as’
this cuboid, then the length of the diagonal of that cube (in cm), correct to the nearest integer is
2.8 Ef:d 2RO ;ﬂ:uéb Sorddy ghzdwen 18, 37.5 S8a5n 40 o2, & 56 w0 DD
Q)Ei;"maaoﬁ‘ DIrIDD b Hodrerrd) LIRS 28 do %08, & Ddo c?.twézr DEGS0
FEH (Pon D. ©&*) JDDH Prossns d5soST

(1) 48 2y 50 (3) 52 (4) 54

www.saksfg_qglucation.com
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The number of cylindrical candles each of diameter 4.2 cm and height 2.8 cm that can be
prepared from a rectangular cuboid shaped wax solid with dimensions 66 cm, 42 cm and
21 cm, is

66 B0 Bo., 42 o1 Do. 6080 21 o do. Fodes S0AS &8 88 HTTEH PIH By
5009 w858 4.2 Don . TgHS0, 2.8 Don D. Iy Godbinmr SoirdhIchidd
JpFsEd T Sde Somg

(1) 1400 (2) 1440 (3) 1480 (4) 1500

Tie external dimensions of a closed wooden box are 18 cm, 10 cm and 6 cmi and the
thickness of the wood is 5 mm. If one c.c of wood weights 0.8 gms, thenthe weight of that
box {in ams) is

28 ok &%) 25,3 ity Fodes 180 3., 10 on Ho.508ci0 6 on 2. Sobosn
% DE, SHodEn 5.0 a8 Hd Don L. 38, 2HP 0.8 (Thow sand, ¥ 1P 20
(ravned?)

(1) 394 (2) 324 (3) 252 (4) 242

A solid toy is in: the form of a right circular cylinder with hemispherical shape at the bottom
and cone at the top. Their common diameter i1s 4.2 cm and the height of the cylindrical and
conical protions are 12 em and 7 cmi respectively. The approximate volume of that solid
toy (in cm?) is

&8 AE(E8) o $*3y, Vb wrio @R 8B, D erio Fo5d S5BI HONS o8 wo
SH8cs Sxdo wsdcd” &ob. D8 v &508 argHo 4.2 Do.. JpFrsEY Sobokw
Foo) e Prisve Jdjen SKOIHT 12 Do.d. Hgan T 0o, & (8 ub 58y
Sng, S8 8Sr00 (B No..0S") Gapanor

(1) ~218 (2) 248 (3) 276 (4) 292

The radius of a conical tent is 7 meters and its height is 10 meters. In mgking the tent, if

2§ $050)) 85 G &) Krbo Bng, a7gFrgo 7 Do, T A 10 Wb&. & Hado
dairsdchaas, 2 habd:ﬂ Dy o R d::tééﬁ) 88, sdedhd 5o g a8y
(éoges®) Bododom

(1) 1384 (2) 1342 (3) 1328 (4) 1306

19-C-
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- Ifa cylinder, a cone and a sphere have the same radius and equal height, then the ratio of

their respective curved surface areas is

28 Hpdin, af 05 0w 28 Af¢len 28 TGN, HBrSWS I LR
w08, o8 SFde JIroghine NG LI

(1) 3:4/5:4 ) 4:/5:4
(3) -2:43:2 4) 5:43:4

Tn questions 66 to 71 there is a detinue relation between the first two entries. The same kind of
relation exisis between the third and tourth entries. Choose the correct one among the given four
options and answer the questions

@Heo 66 Scod T1 S88, D068 Bod woddnoth wf ARPWS dowoo &ob. R0 DS

domodc, Sards S0ty Teuih vodlne iy e a’ngﬁ?géo. D% RIS TreniDd S

Bo0d £0¢E odER) Jobl B2, PHVE zTw0 ToHod.

66.

67.

Barrel : Vial :: _ :

(1) Shovel: hee (2) Key:door
(3) Volume : Monograph (4) Honey: Milk
o0& : dchd i 3

(1) ¥3S:F : 2) §:86

(3) Torg’ ISR (4) & : 0,
Eewer : _:: Countable : Uncountable

(1) imaginary 12) toral

(EJL_ le;s (4) sum
Irgosab i  Tobend  wafobrnd

(1) 230250 (2) &*ead

(3) 8% (4) H20

www.sakshiggducation.com
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68. FORAGE : SEARCH :: ~_:CONFUSE

(1) HAUNT (2) HIDE (3) FLUMMOX (4) CLARIFY

FOE Ry . ESYrgE

(1) &rots 2) a () 3508 (4) 263
69. 97:89::43:

(1) 31 (2) 37 (3) 40 (4) 41
0, 07 I 5

(1) 8 (2) 12 (3) 24 @ J81
71. 0O: :: Celsius : Kelvin

0: L dyohn (38R

(t) 32 (2) 180 (3) 212 (4) 273

[n questions 72 to 75 each question consisis of two sets of figures. Figures A, B, C, D constitute
the problem set, while (1), (2), (3) and (4) constitute the answer set. There is a definite relationship
between figures Aand B. Establish a similar relationship between figures C and D by selecting a
suitable figure from Answer set that would replace the question mark (?) in figure D.

72 S0 75 S6% Ho @8 BHS” Sok dbdwe dBTrchinwwaon. A, B, C, D Sbsnen
3005 58I, 1, 2,84 50500 IS 5208 rdaw. A 2005w B & Sy 28 995
Sozmodo H08. wired foworrd) C & EOAS ) Jdrerd 38 Sod, D &0 FT28
Joh¥ Dcoliod.

724 T ' 2
alA|M]| \W I ANVANAV
A B C D (1) (2) (3) (4)
73.
SEHE 2 | AR
A B C D (1) (2) (3) (4)
21-C
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74. :
AREO] OISO
A B C D (1) (2) 3) (4)
75. |
T e et
A B C D (1) (2) _E) (4)

Directions for questions 76 to 80
Following are the eligibility criteria for becoming member of an exclusive club:

(i) The applicant's annual income should be atleast Rs. 5 lakhs. He should be able to pay one-
time membership fees of Rs. One lakh

(ii) The conditions given in (1) are both relaxed upto 50% for former defence personnel

(ii1) For the children of existing members, the criterion of annuzal income is reduced to
Rs. 3 lakhs and one time membership fees to Rs. 70,000.

(iv) Judges working in courts presently are offered free membership and the stipulation of
annual income is watved.

(v) Irrespectie of annual income, a national level sport personnal is eligible to be a member by
paying Rs. 20,000 as membership fees.

In each question, information about an individual is given. Based on that, you have to decide
under which criterion/criteria, the individual is eligible for membership. An individual can be
eligible under more than one criteria. You are not supposed to assume any thing, other then the
informaion provided in each question.

Study the above information carefully and answer questions 76 to 80
76 S50 80 558 fo BHS drdden

w8 GHd SPS0dt Fobd EheS® Defgdilndth, & BHSS Jwodlw Qigadoro

(i) G65RTO FOT soraho D0 &r.o 5 vfen Gowd. wdd w330 Hefgds ddoSom
eE ArSraonvien mfladifieird

22-C
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(i) - B0 S¥50S® RodL Frdto D BdS =708 (i) &° D) JcdhSren Bodr 50% S5
DEDoeoaron

(iii)- (8o Hehgent GHT0 HYO, FOT BTN JNES &r. 3 v Hdoate0d
28050 28>0 5§ deigds Do &r. 70,000 05 Hdosathdod

(iv) Bdo Fhos® HATH afed J o SHhoa JfgEo asgSrHed SHookn
Fdo erraho AodS PES BEeDH

(v) &Fd> wooHod Homodo Bowm, mrach Fon E@shd, Jgds Hudom &
20,000 300D Bgbgdh s7EEAE wdy dHerdd.

58 BHS S, o8 5588 Souododd ddrwrdo adndod. ord) ey dom, o De0dS/Idnodse

1§08 @ g8, JPgdcEnst v Hs G 8 donoTd. 2§ B8 w8 LoB IyS Anodde

$o8 ©dy do 578, @8 BN, ald SSrTEIRIE Dod D TIY vHED

B DR Erd

P dSrordo rEgm edgoixde 3D 76 Sood 80 Sos DHok maww |@abod

76. Rakesh Varma is a working pilot in Jet Airways with an annual income of Rs. 10 lakhs. He 1s
ready to pay Rs. 50,000 for a one time membership fees. His father is a retired Navy
oiticer. Then Rakesh 1s

(1) noteligible

(2) eligible under (i1) & (i11) only

(3) eligible under (iii) only

(4) eligible under (iv) only

dren 10 ofe Joid)8 woraod® o8 $56) B DS HORS” P 5 By,
2800 EQdebd Jddgdedhdodn & e 50,000 $L5°08 wdd Sodbddalirgdh. vdd
o Fod ID wdHH. vy 8R

(1) o8 i 5=

(2) (i1) SobcSn (iil) 8o SomEdh ey &

(3) (iil) Bod SrE@d wdyd

(4) (iv) Bod SrEgidh o

www.sakshﬁgecation.com
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77. Kiran Gupta can pay Rs. 70,000 as membership fee. He has been playing in National Basket

78.

ball team and he is working in a public sector bank. His father is a member of that club.
Then Kiran Gupta is

(1) noteligible

(2) eligible under (v) only

(3) eligible under(iii) and (v) only

(4) eligible under (iv) only

865 Koax dggde oo Sren 70,000 BdoSHed. w8d 8cH E S
B vhodmi L£0u8n Pebdy Sof wrgolst $) Id. vEs Sod u 5
Daghs. wiys 865 MF

(1) oHd s

(2) (V) Bod Sr@gd v &

(3) (i) So8csn (v) (Bod HmEh 08 &

(4) (iv) (808 Srgd vl b

Gauri Shankar's annual income is Rs. 6 lakhs. He is a retired judge of High Court. He can
pay Rs. 1 lakh as membership fees. He is a National Cricket Player from his home state.
Then Gauri Shankar is

{1) noteligible

(2) eligible under (1) & (v) only

(3) eligible under (i) & (iii) only

(4) eligible under (i) only

6 086 D03 sraRo &r.e) 6 viw. VW o8 TER DFod 2d. VI ¥ of
o e Seigdy Sododom Shked. vdd &S oo S69S w8 Fow §38 shmd.
D& TS F088

(1) w8 d 58

(2) (i) 58050 (V) Bod Sr@d e do

(3) (i) %805 (iii) o8 Smgd &,

(4). (i) o8 S ol kb

24-C
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Preeti Singhal is the daughter of an existing member of the club. Her annual income is
Rs. 4 lakhs: She can pay Rs. 80,000 as one time membership fees. She works in Indian
Airforce. Then Preeti Singhal is

(1) eligible under (i) & (iii) only

(2) eligible under (i) & (iv) only

(3) eligible under (ii1) & (ivj only

(4) eligible under (iii) only

58 BoprS, © §5 D), 28 PR JEHgE BNE, HErD. B FOT emrabo Er.e
4 ofen. 230 §F Iy Sdodn o v & 30,000 BRoded, e o
FSwRSS* B B0, v @8 hodrS

(1) (i) Sodos0 (iii) B0 SrEd v oren

(2) (i) So8osw (iv) Bod Sr@ b e

(3) (iif) So8csn (iv) Bos SSd w8 oen

(4) (iii) Bods SomEdd ©i) Cren

Shobha Sharma works in a Public Sector Bank. She is a player in National Badminton team.
Her father is a retired judge of a district court. Her annual income is Rs. 6 lakhs. She can
pay Rs. 1 lakh towards one time membership fee. Then Shobha Sharma is

(1) eligible under (1) only

(2) eligible under (1) & (ii) only

(3) eligibleunder (1) & (v) only

(4) eligible under (i) & (iv) only

§'¢ 90 w8 Hebds Sotf wrgo8St 5 Tiod. s 8D wgELoLS 2ins” BB,
w5 S0d 28 zer B IFod 2§. 4D T amrco dren 6 ofw, e 286
PDoSIevS DGy ORI dr.e uf of BLodlod. viydh T 1)

(1) (i) Bods Sorigad o oren

(2) (i) 080 (i) Bods SrESH & oen

(3) (i) Sobasn (v) god SmEd vy oren

(4) (i) S080sn (1v) Bod SrED o8 oren

25-C
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IfFTEACHER and HIGHLY are written as XWPBRWM and RSNRDZ respectively, how
will be the word CHARITY coded?

TEACHER %8asw HIGHLY dored $65m XWPBRWM fo0iw RSNRDZ e @-‘5.::
CHARITY 3o 2 dgorm @'oﬁaéﬁ%}?
(1) BRPMSXZ (2) BPRNBSZ (3) MBRPDSZ (4) BRPXSMZ

If FURNITURE is coded as ERUTINRUF, how can FRAGRANCE be coded?
FURNITURE % §6 z°46* ERUTINRUF v &%, FRAGRANCE % §°87

(1) FCNARGRFA (2) FARGRACEN
(3) ECNARGARF {4) ARFGNCRE

Ifthe word DIAMOND is coded as AFXJLKA, then JLKHBV is the code for
DIAMOND % §& AFXILKA®ond, ILKHBV ea?".-crai & b
(1) MONKER (2) KEYMON (3) MONITER (4) MONKEY

Consider the following codes and decodes. The codes are written in CAPITAL
(Upper Case) letters

Decode/key: b a e 5 p r h 1 g t
Code : L X P Z J Y Q M N B
Decode QPMNQB

& $0d §'8, F8odn 306300808, e DY (5°1LE) witred® TraLaddd
&5°5/8: b a e S P r h i g t
56 : L X P @ ] Y Q M N B
QPMNQB @3w$), 454 _

(1) cought (2) matery (3) fights (4) height

L]
A man starts from a point and moves 3 km North, then tums to West and goes 2 km. He then
turns North and walks | km and then moves 5 km towords East. How far is he from the
suamngpoml { y

(1) 11km (2) Skm (3) 10km (4) 8km

2§ 502 oy Lo 08 sE6o% 3 8>, WHE H0d IdHE IS 2 8.0
S6TE. o8 $008 GE6o IHK 1 8.7, v S Hod &rddy FPSH 5 8.0, 87,
wdb |@rdo ga’:o od dod drdods® wodrda?

(1) 11 8.5, @) 58 (3) 10 &.5. 4) 88&.5.
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86. Point B is 3 meters to the North of point A, Point C is 3 meters to the West of point B,
Point D is 5 meters to the South of point “C’, Point E is 7 meters to the East of Point D. In
which of the directions is the point E, with reference to point B?

(1) East (2) South

(3) South-East (4) West

B 03 Do) ADockhd% 3 Deg &rdos® 88 BIS' &0, CHoY B 3 e
BrGoS® HEHS B83S*, DDoh) C5 5 Db drdos® $Eabie*, E Dot D& ?ma;
ErSoes’ S &¥S" Gamow. B Do Syrs, E Do 2 BES* &ob?

(1) &rt (2) GEmdn

(3) whychHsn (4) HEHE

For questions 87 to 90, cach question is followed by two statements ['and II. Mark your answer as
(1), if the statement | alone can give the answer

(2), if the statement IT alone can give the answer

(3), if the statement I and II together are necessary Lo give the answer

(4), if the statement [ and [I together also are not sufficient to answer the question and additicnal
information is necessary

87 S00D 90 $650 Mo P8 SHT G o8 ©BE), o Sogd Todd PEdSaen [ 1l e aumd.
PSS50 [ & Srgd HHH 205008 (1) ol;

B3550 11 6° S 1HH 250500008 (2) 0;

B3S30 1, [ 0 8003 Sr@h (B4 2o05¢i0nd (3) o,

BESS0 1, Hed odr &), 20F08 0ddy ddrTdo DSod wHd zoddidrs (4) o
oo ﬁﬁm‘;ﬁ“ﬁ*ﬁl fo8odod.

§7.. Manoj, Prabhakar, Akash and Kamal are four friends. Who among them is the heaviest?
(I) Prabhakar is heavier than Manoj and Kamal but lighter than Akash
(I) Manoj is lighter than Prabhakar and Akash but heavier than Kamal

STE, PerEl, svh Hdakn 5HES 63 T Swhd rden. IBS° INDH VEHHE S
aJ8a?

() ©urs6, 258 50050 EHS EoB aHIS o, wond v5h o8 8088
(I) S8, HerEs J0ocsn w5 EoB B3IBI T, ®ond S EoB ad3dd ok
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 Zis in which direction with respect to X?

(D) Y isto the South of X, Z is to the East of P and P is to the Northof Y
(ID P isto the South of X

X &yrs, Z D 8% @ob?
D X 3ng, ¢8wo 39S Y @od, P Gk, SrdyS Z #od 508050 Y Aw), &4850S
P so8.

(1) X owg), d8ednsd P 4od

What is Nitin's rank from the top, in a class of 40 students?
(I}  There are ten students between Nitin and Naveen
(Il) Naveen is twentieth from the top

40 508 DorgRen Mo w8 S6HBS* D 08 BT @ng), ToH Jo&?
() 2858 3DSE Sagsg 10 Ho0d Dorghyen ST
() B Hod DS 205 a7

How many gift boxes were sold on Monday?
(T) It was 10% more than the boxes sold on the earlier day i.e, Sunday
(II) Every third visitor to the shop bought the box and there were 1500 visitors on Sunday

FRTToTE D) BTus8 den @;i:.‘ué‘d:ﬂ'mavm:?
(I) woskh Bodd Bar, wdm wbzrdo s DB 08 10% wikor elvdhFonaow

(II) 9% ;33!3 ©8 Hrdd dodG)id HFPDE T, a’;::&din sado o'z 1500
208 éaﬁﬁﬁam -&aaﬁ:.

Directign for Q. No. 91 to 95 : For the Assertion (A) and Reason (R) below, choosg the correct
alternative from the following as :

(1), ifboth {A) and {R) are true and (R) is the correct explanation of (A)
(2), if both (A) and (R) are true and.(R.) is not the correct explanation of (A)
(3), if (A) is true but (R) is false

(4),if(A) is false but (R) is true

28-C
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9] So0d 95 SEK Ko PHO (D8 BHS' oSS JAYddco (A), s6ndn (R) o §od
odFres’ AGFsTen
(A), (R) e Bodr D220 Soain (A)8 (R) D008 DB eond (1),

(A), (R) e Bodr dadon Sbain (A) 8 (R) 50508 dde s eand (2),
(A) 350, 50 (R) 859 wond (3),

(A) 853, 5°0 (R) Jzdn 0ond (4), ©d I8)FI0s»

91.

92.

93.

94,

Asserttion (A)

Reason (R)

ASSco (A)

5320 (R)

Asserttion (A)
Reason (R)

dyESco (A)
&0 (R)

Asserttion (A)
Reason (R)

Qo (A)
550 (R)

Asserttion (A)
Reason (R)

AZ)eeico (A)
5500 (R)

: Subhas Chandra Bose resigried trom the office of the President of indian

Nartionai Congress in 1939

: Subhas Chandra Bose left congress to form the Indian Independance

League in South East Asia

: 1939 &* oerhhol 5% rdd 2D S0t DBwE), wdgE HEDS

oA DA

s Fozrado 90 ardd Awsos SRS @ﬁelu&: wHASTS® | FEododT R8s,

Fofind SO IHIEH

: India has a tropiccl monsoon type climate
: India is located exactly between the tropical latitudes

:Wrodor B0, &3 DBF Gy HIdo SrHd TrerSdmody EOA dotnod
:2rote B0, FaN EDES epoFine Sugg KO SgEPEI0 WenIs

: Mercury is the farthest planet from the sun
: Mercury is the smallest planet in the entir'c solar system

D Hrdgd 008 vaghE drdod &%) o g

: Jogo Sdjolnoaing” miHhd w8 Y Wiro

: India is facing the problem of inflation
- Inflation is caused by the raise of prices of commodities

L grEEddo (BS'genm SHHH IE 0% 0d
 SP0 $6 DHKG, BT goRinGd SEnin ©HE08
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95. Asserttion (A) :Metals are present in molten state inside the earth
Reason (R) : Earth absorbs the sun's rays

dfddeo (A)  : Srdwen, drde e (BSErD0s" dotron
soosn (R)  :edrdy, drdy Sbaroid 85 S'%H08 HoyFotnod

Study the following information carefully and answer the questions 96 to 100

Seven Airlines namely Jet Airways, British Airways, Delta, Quantas, Emirates, Lufthansa and Air
India cperate flights to London. Begining from Monday and ending on Sunday, on each day of the
week, there i3 only one flight te Londoin.

Di¢lra flies on Wednesday. Air India flies the day next to British Airways. Two airlines fly between
the days British airways and Emirates fly. British airways does not fly on Monday and Friday.
Emirates does not fly on Sunday. Quantas flies a day before Lufthansa flies.

& bd adyw Rirood) FPET odgelso TN 96 Lod 100 S8 Ao PHek 2o
QHoE.

B Jonb3S, DB Jond 3B, G, swokd, IV, oy HBckn Jonb odair w3
DG DEFS Lohen wodlSE diraren HhHorown. FuTdo Iwden whTdo S0, Fdodt
B0 T 0oiTH o ¥ S oo Gowod,

Bep 2wddo SdHdod. DER Jond 3B S8 Bl SHord §ard Jonb Rodair Skdod.
SR JonEIT 598050 DB SAD Sere So8geS” Tod JHrd DoPus Ddraroi Shysron.
DEG JonBIG Foarde, HIETGo Jbraes SEHEH. IXVE) BOTEo SEIK. eodm) $45
e, wl Tar 3508 Fard 570Lrs SdDsood.

96. Jet Airwaysfly on this day
(1) Friday (2) Sunday (3) Tuesday (4) Thursday

2 Deb 535 éﬂﬁm 00 O

(1) ®HF>do (2) uwé&zdo (3) Doonidado (4) Mdado

97. Number of flights operating between Lufthansa and Delta is

(1) One (2) Two (3) Three (4) Four

endan L8ckn Bere DGy IDPMHSG) IS Jie dopg

(1) =88 (Z) Bodo (3) Sordo (4) arenih
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The airlines that operate its flight on Friday, is

(1) AirIndia (2) Quantas
(3) Lufthansa (4) Delta
HEToT §6$"'m.:-a50 ST DIFH ﬁog

(1) Qdond aoddr (2} 5080
(3) oy (4) Bep

Due to some technical reasons, if Delta postpones its flight to Sunday and all the fiights
scheduled from Thursday to Sunday are now advanced one day ahead of their schedule, the
one that would now fly on Friday 15

(1) Lufthansa (2) Quantas

(3) JetAirways (4) Bristish Airways

§J) 0888 e Sud T g5 dfghond BEIEINIH T 38, S8a%0
Kodharto $o08 FATES50 368 fdo o) A S6cdoen w8 &or IHELH 2008, adydd
HETGo 3T IS B8g20

(1) eooaram (2) sgobod
(3) B Jonb3D (4) 282 JowsIN
If Jet Airways is related to British Airways and Air India is related to Lufthansa ina certain

way based upon the given flight schedule, then based upon the same relationship, Emirates
is related to

(1) Jet Airways (2) Lufthansa

(3) Delta (4) Quantas

g8 DS (g wrrdor, &f Y Ihchos® AER DonEIRE" B JowdAD Hobasn
oS Jowd R0b0ird Soworr) E9A o, ¥T Howodod’ QS Bowodo
$0R &038?

(1) 28 008635 (2) oo

(3) Geg (4) 5o

www.sakshieducation.com
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